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                                              １級水準測量 点検計算

               1 点検路線

             　　　　   　    　   　           　 　     観　測   標　尺   楕　円   基準日

             路線名     自  ―→   至           距 離     高低差   補正量   補正量   補正量     高低差

                                                 ㎞        m         mm       mm       mm        m

             Rout-1     1          4            2.600     0.3968   -0.2      7.6      1.2       0.4054

             Rout-2     4          7            2.000    -0.1811    0.0      0.0     -1.5      -0.1826

             Rout-4     7          1            1.900    -0.2132    0.0     -7.6      0.0      -0.2208

            -------------------------------------------------------------------------------------------

                        1          1            6.500     0.0025   -0.2      0.0     -0.3       0.0020

                                                                                既知高低差 =    0.0000

                                                                                　　閉合差 =    0.0020

                                                                                　　許容値 =   (0.0050)

               2 点検路線

             　　　　   　    　   　           　 　     観　測   標　尺   楕　円   基準日

             路線名     自  ―→   至           距 離     高低差   補正量   補正量   補正量     高低差

                                                 ㎞        m         mm       mm       mm        m

             Rout-2     4          7            2.000    -0.1811    0.0      0.0     -1.5      -0.1826

             Rout-3     7          4            5.600     0.1814    0.0      0.0      1.3       0.1827

            -------------------------------------------------------------------------------------------

                        4          4            7.600     0.0003    0.0      0.0     -0.1       0.0002

                                                                                既知高低差 =    0.0000

                                                                                　　閉合差 =    0.0002

                                                                                　　許容値 =   (0.0055)


